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20234 S7HAIM &

e Che e H| 1
1. X}X|H|
AL EX| 1130 x W110 x H80 ea 9,000 (27t 2023 01& 250p
O A DS 22 H K| H(HK-801) L106 x W95 x H25 ea 28,000 |7{2{7tZ 20234 01 250p
ArZH R L110 x W115 x H72 ea 30,000 (He2{7t4 20234 01& 250p
HEELetE ea 84,000 |7{2{7tZ4 20234 01 250p
el LetE ea 84,000 |27tz 20234 01 250p
A2 BHE K| B (HK-A9) L132 x W123 x H72 ea 60,000 |7{2{7124 20234 012 250p
s4drsEeE 27 K| B (HK-A10) ea 70,000 |27t 2023 012 250p
Ol Z A= E(HA) kg 18,000

2023E A= AT}

2.9174H]
sgeolg ol 197,546 |thet A ¥ 3| 20231 S| AT =
BEOIR ol 157,068 |chstzi 23| 20231 AHEH| A|




S AR H| BT ()

20234 EIHAIM & 74 2| o9 L] = R H| ZH| A Elfinl
Tt 3 Tt 3 Tt 3 3
ERHEX|E M|
O ZA|RE (A NO.5200 0.15 kg 18,000 2,700 2,700
gdolg 0.0143 2l 197,546 2,825 2,825
s2Eo8 0.0143 2l 157,068 2,246 2,246
T 2| = 2H|9| 5% 5 % 5,071 254 254
(2 A1 2,954 5,071 8,025
" E2EX|Y dX|
O ZA|RE (A NO.5200 0.15 kg 18,000 2,700 2,700
Egolg 0.0700 ol 197,546 13,828 13,828
s2EQH 0.0700 2l 157,068 10,995 10,995
STteR L B2H|9| 5% 5 % 24,823 1,241 1,241
(2 A1 3,941 24,823 28,764
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QlH}FH X| B (HK-780)

3 At H| EF Tt (@)
3= = oo L] L 2| o
ctot FH FH FH

1. XpxHH|
QU HhE X| B (HK-780) 1130 x W110 x H80 ea 9,000 9,000 9,000
[2 Al 9,000 - 9,000
2. ™x|H|
SE2EXAY 49X ea 2,954 2,954 5,071 5,071 8,025
EERFRRH] =x) 24| 5% % 9,000 450 450
[2& A1 3,404 5,071 8,475
[g 41 12,404 5,071 17,475
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oA HHL et E X E(HK-801)

3 At H| BTt (@)
== 4 =F £t 24| L 2| 4|
o|-7:"
=l = =l = £t} =

1. XFXyH|

oA DNE & EX| E(HK-801) 1106 x W95 x H25 1 ea 28,000 28,000 28,000
[2 Al 28,000 - - 28,000
2. MX|H|

CEREXYH AX 1 ea 2,954 2,954 5,071 5,071 8,025
EXFRH| =x) 24| 5% 5 % 28,000 1,400 1,400
[ A1 4,354 5,071 - 9,425
[g 41 32,354 5,071 - 37,425
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AbZt 2 Bt E X| H(HK-813)

3 At H| BTt (@)
== 4 =F £t 24| L 2| 4|
o|-7:"
=l = =l = £t} =

1. XFXyH|

APZH2 BHE K| B (HK-813) 1110 x W115 x H72 1 ea 30,000 30,000 30,000
[2 Al 30,000 - - 30,000
2. MX|H|

CEREXYH AX 1 ea 2,954 2,954 5,071 5,071 8,025
EXFRH| =x) 24| 5% 5 % 30,000 1,500 1,500
[ A1 4,454 5,071 - 9,525
[g 41 34,454 5,071 - 39,525
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O fl e &2t B X| | (HK-815)

3 At H| BTt (@)
== 4 =F £t 24| L 2| 4|
o|-7:"
=l = =l = £t} =

1. XFXyH|

Of 21 S & 2L 5 X| 8 (HK-815) @125 x H50 1 ea 84,000 84,000 84,000
[2 Al 84,000 - - 84,000
2. MX|H|

s SEEX Y MK 1 ea 3,941 3,941 24,823 24,823 28,764
EXFRH| =x) 24| 5% 5 % 84,000 4,200 4,200
[ A1 8,141 24,823 - 32,964
[g 41 92,141 24,823 - 116,964
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O fl e &2t B X| B (HK-816)

3 At H| BTt (@)
== 4 =F £t 24| L 2| 4|
o|-7:"
=l = =l = £t} =

1. XFXyH|

Of 21 S & 2L 5 X| 8 (HK-816) @122 x H45 1 ea 84,000 84,000 84,000
[2 Al 84,000 - - 84,000
2. MX|H|

s SEEX Y MK 1 ea 3,941 3,941 24,823 24,823 28,764
EXFRH| =x) 24| 5% 5 % 84,000 4,200 4,200
[ A1 8,141 24,823 - 32,964
[g 41 92,141 24,823 - 116,964
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AtZtE et X E(HK-A9)

3 At H| BTt (@)
== 4 =F £t 24| L 2| 4|
o|-7:"
=l = =l = £t} =

1. XFXyH|

APZH2 BHE K| B (HK-A9) 1132 x W123 x H72 1 ea 60,000 60,000 60,000
[2 Al 60,000 - - 60,000
2. MX|H|

CEREXYH AX 1 ea 2,954 2,954 5,071 5,071 8,025
EXFRH| =x) 24| 5% 5 % 60,000 3,000 3,000
[ A1 5,954 5,071 - 11,025
[g 41 65,954 5,071 - 71,025
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2022 SIHAIN & 4 = £t 24| L 2| 4|
o|-7:"
=l = =l = £t} =

1. XFXyH|

IS4t sE BLE K| & (HK-A10) @138 x H38 1 ea 70,000 70,000 70,000
[2 Al 70,000 - - 70,000
2. MX|H|

s SEEX Y MK 1 ea 3,941 3,941 24,823 24,823 28,764
EXFRH| =x) 24| 5% 5 % 70,000 3,500 3,500
[ A1 7,441 24,823 - 32,264
[g 41 77,441 24,823 - 102,264




